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l// questions are to be attempted.

Part A of each question is compulsory.
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Part A is compulsory. Do any tt)o out of Parts B, C

andD:

(A) From the following information, calculate GDP, Private

Disposable Income and Private Savings : ZZI

Consumption
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(D) fTqfdfud u.r qfi sgf+o firr} o1 wrqcr t
qfrlsq :
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Compensation of Employees

Rental income of Persons

Proprietor's lncome

Corporate Profits

Net Interest

lndirect Business Taxes

Consumption of fixed caiital

Transfers received fiom Govemment

lnteresf Payment on Government Debt

Direct Taxes 7oo

(B) (0 tf expected rate of inflation is 604' calculate the

real rate of relum on a I year Bond of face value 
,

of Rs 300, available for purchase at Rs 250' 2

(ir) How does the oflicial settlement balance ensure

that the "Fundamental Balance of Payments

Identity" holds 'l 3

(C) How can National Savings, Private Savings and

Government Savings be calculated ? What will happen

if Government Deficit increases ? 5
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(b) Eq-e 31Fdt6 f6ffii t ?

(c) olr.I ?5.l Tql rt(d-{ mr eil< ret xur+

is-r{l i}III qR r q6*r 0.25 A qrfl tl
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(c) (0 qfi or++r€n d RqFrqr t fs' :

C = 0.8 (l-t) Y

t = 0.25

r=900-50,

G=8oo

L=0.25Y - 62.5i

(MP) = 500
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(E) (, Consider nvo policy oplions, one of an investment

subsidy and another of a rise in income tax rates'

Using the IS-LM model, discuss the impact of these

policies on income' interest rates and investment 5

(ir) How is the effect of monetary policy different from

the effect of a fiscal policy as a tool of

stabilization ? Explain using suitable diagram' 5

qrrr A srfrsrd tt trq s, c. D qs E q t ffi +t
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(B) (' 95 erfu*+vr t ftslYrqr t to :

C=100+0.8yD

7 =to

G=200

TR = 150

, = 0.20

(a) stFI tfi {gHi R{ sq uult6, A1 qxt

ffit?
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(D) (,) Do you agree with the statement that CPI inflation

overstates increases in costs of living ? Cive

reesons for Your ansrY€r. 3

(r,) With the help of data given belou caleuhte the

rate of inflation for each year from 2014 to 2017

considering 2013 as base : 2

Year C"l

2013 60.0

mt4 61.5

2015 6so

20t6 G5

nn 66.0

qrr e s#rer{ tt qrrl s, c qi o I t t*-61 6 O
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(C) 0) Given that in an economy

c = 0.E (l-, Y

t = 0.25

I=900-50,

G=aoo

L=0.25Y - 62.5i

(M/P) = 500

(a) Derive the equation for the lS curve.

(b) Derive the equation ftir the LM curve.

(c) What are dre equilibrium levels of income and

the interest rare ? 222

(,, Explain policy mix. Wha is its significance ? Explain

using suitable diagram. 4

(D) Explain the following using suitable diagrams :

0) Show that both govemment spending and the tax

.rate 
a(fect the lS schedule. 3

(ii) How will an increase in real money stock affect

' equilibrium income and equilibriun interest rate ?

Explain using IS-LM analysis. 3

(rr0 In the context of fiscal policy what is crowding

out ? How doeq the liquidlty trap afBcf crowding

, out ? 4
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compulsory. Do any three out of parts B, C, D

How does an increase in autonomous spending

affect the equilibrium level of income ? Explain

usiog IS-LM analysis. 3 {

What is the relevance of Okun's law ? 2

Suppose that in an economy

c=100+o.8YD

7 =70

G=zqo

tn = rso

t = O.2o

(a) Calculate the equilibrium level of income and

' multiplier in this model.
/

(6) Calculate the budg€t surplus. (

)a

(e) What will be the new equilibrium income and

the new multiplio if , inqeases.to 0.25 ? 22,1

Derive the balanced budget multiplier. 3

Under what circumstances can the LM curve be

horizontal ? Us€ suitable diagram to explain. 2

(8) (5) ut4

-r. Part A is

andE:

(A) ('

(r,

(B) ('

(,,

lut)

(i0 2ot3 +J erqR q{ qrA ss +q f<q Ts
qis-S d ffiTq t 2ot4 t 2ot7 n-+ qrfrl+

tql-w1fr 41 <{ Frd *1fsq :

s{ Eqrfrffir qa (f,sf-*,

2013

20t4 61.5

20t 5 65.0

?nt6. g5

2017 6.0

Part A is compulsory. Do any three out of parts B, C, D

andE:

(A) (, Do you agree with Oe statement that .bond prices

and rate of interest are negatively related, ? Give

reasons for your answer. 2

(ll) Calculate real interest rate given that rate.of gro\.!th

of real CDP is 77o, nominal interest rate is |4olo

and money supply increases at 160/0 per yealz

(B) Explain the concept and causes of Hyperinflation ?

Suggest policies that the govemment can use to control

H)?erinflation. j
P.T.O.

(

60.0

2.

i

(



8414

What is High Powered Money ? To what extent does

High Powered Money affect the Money Supply in an

economy ? 1

0) civen rhe Quanlity Theory of Money,.assume that

income is 1000 units and money supply is 400

units. Also assume that velocity of circulation of

money is 5. Calculate the aggregate price level.

What will happen to the price level if money

supply rises to 600 units ? Explain. 4

(ir) How are the costs of expected inflation different

ftom the costs of unexpected inllation ? 3

(, Explain the statement that 'financing a large deficit

with seigniorage can only lead to high inflation'.5

(r'i) With constant levels of velocity of money and

GDP, the govemment raises money supply by 5%.

Assuming a real rate of interest of 8%, calculate

the nominal rate of interest. 2

(,0 qrKfqm qrq E{ 6l rlora qltqq qf<

sIRt{{' cDP qtd (t 7%, ;Irflr( qll[ Et 14%

etn 5n {fd Sfu q1 16"7, Yfir<d }1
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(E) (0 {s 4T{ 6',r qur{ qlfuq : q'g sTsTfr

qA +1 sTrrf.q ERI $r o.{i t #s 5qT-

s1fr i-<r Etfr tr
(i0 GDP 3itr {-n or qffi +rl ftq{ t, RT6R

5lr {fd d 5%. ql Ek qrfi t, srwtufi
qrq <{ 8% t, A nrfu6 q-q R 61 .Iqr

oifsqr
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